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11 AMISXAIEEX 64,000 64,000
O XA 22 28 845t
000,000& *14] 20,000
0 S8 NSARI2HEoH 2EAAMY
K& 0003 #2200 A 44,000
NSEABI oM 22 (EX) 100,000 60,000 40,000
= 7,500
Al 92,500
307 @120l & 100,000 60,000 40,000
s 7,500
Al 92,500
11 AMRISXAEEES 100,000 60,000 40,000
O XAAmeI2ZE2AM 2SR
100,000,000 * 14! 100,000
S 7,500
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 92,500
ASZHE AL 40,000 40,000 0
307 Q1201 & 40,000 40,000
04 QIZFHAIAII B 40,000 40,000
O #=2d =X
40,000,000& *x14] 40,000
SXMHe 2 500,000 550,000 250,000
306 £= 500,000 550,000 250,000
01 2d= 500,000 550,000 50,000
O JIEMes £d= 500,000,000 *14] 500,000
HANSAHLXAMS(EX) 11,040 27,000 15,960
N 7,728
= 1,656
Al 1,656
301 EtE N = 11,040 0 11,040
N 7,728
< 1,656
Al 1,656
01 AR 2EHSHS(RNEERTHE) 11,040 0 11,040
O ZESHE XA
11,040,000& » 14 11,040
N 7,728
[ 1,656
Al 1,656
SXARIN 22 29 XJ(EX) 11,000 10,000 1,000
= 3,300
Al 7,700
201 fer23y| 5,500 5,000 500
= 1,650
Al 3,850
01 AtR2tc|HI 1,660 5,000 A3,340
0 &8t =EH| 1,660
O g=2= MH 1,660,000 *14] 1,660
S 498
Al 1,162
2 s5=34l 3,840 0 3,840
O SASIISEMEIA 285
3,2003 1005122 3,840
= 1,182
Al 2,688
301 22N = 5,500 5,000 500
[ 1,650
Al 3,850
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Rl XFARIAHIA KB (CHol: &S1)
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02 MBI 2HHSFHS(HAANS, XLHE) 5,500 4,500 1,000
O SAAKL g=20d0 22 X2
5,500,000& 14] 5,500
= 1,650
Al 3,850
SOPR AL Xa=s M 29 1,000 1,000
301 LEtE NS 1,000 1,000
14 0Bt 2as 1,000 1,000
O 20012 40 Za3
50,000& 2024 1,000
LN ESMEIAALS 287,680 0 287,680
N 201,376
== 43,152
Al 43,152
201 2= 4,000 0 4,000
X 2,800
=S 600
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01 AtR2t2|H] 4,000 0 4,000
O LaSSMHIAAY 23]
4,000,000 * 14 4,000
N 2,800
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Al 600
301 22N 283,680 0 283,680
N 198,576
= 42,552
Al 42,552
01 Al EE A S(FRNEXMA) 283,680 0 283,680
0 2= AMHIAA
283,680,000 x14] 283,680
Xl 198,576
= 42,552
Al 42,552
=D =H2YA 2ot 40,436,537 33,647,781 6,788,756
= 30,855,207
N 92,781
= 3,755,888
Al 5,732,661
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O 2D =HESHS 0 (MAHSH)
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= 27,589,750
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MEXHF BEX AMER2E 2l 1,976 8,680 6,704
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O SAlHl 8,000 » 18 »247 1,976
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301 EtE NS 982,168 686,500 295,668
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O AR SReE AHHIXI 982,168
O Alel=223 212
1,000,000 «80H * 122 960,000
O Asl=2ew I=y)
335,870 *66H 22,168
HAEHZ0 (LI =MEEHZH)(EX) 211,059 167,89% 43,164
= 168,847
& 14,774
Al 27,438
301 LELE NS 211,059 167,89% 43,164
= 168,847
s 14,774
Al 27,438
01 Al EE A S(FRNEXM) 211,059 167,89% 43,164
[ 20| ZMEBH201(h4H, ZH)
211,059,000 x14] 211,059
= 168,847
=S 14,774
Al 27,438
MBS (1F) 109,678 101,431 8,247
308 XtXIEMSO0IE 109,678 101,431 8,247
08 wW=J| 202X 109,678 101,431 8,247
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 100,000 110,000 10,000
= 80,000
== 4,000
Al 16,000
M ORNZZ2NSE S 100,000 110,000 10,000
O A2 2ME (22K XE)
100,000,000 *14] 100,000
= 80,000
== 4,000
Al 16,000
201 er23 | 3,000 3,000 0
= 2,400
== 120
Al 480
01 At22t2l] 3,000 3,000 0
0 get+=EH] 3,000,000& *14] 3,000
= 2,400
= 120
Al 480
206 M=l 6,000 6,000 0
= 4,800
= 240
Al 960
01 M=4l 6,000 6,000 0
O 22 A (W Z2H])
6,000,000 * 14 6,000
= 4,800
= 240
Al 960
301 EtE NS 1,500 1,000 500
= 1,200
S 60
Al 240
11 #AIAHIXI 2= 1,500 1,000 500
O MHE22AE (HE9gns FAR A
X&) 0,000 *150& %12 1,500
= 1,200
&< 60
Al 240
307 @12t01 & 2,463,679 2,285,951 177,728
= 1,970,943
= 98,547
Al 394,189
1 AMEISXAIEEXS 2,463,679 2,285,951 177,728
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2,463,679,000& * 14 2,463,679
= 1,970,943
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Al 3%4,189
NSARtEHE2EH N2 (EX) 447,007 426,186 20,821
= 312,905
[ 40,231
Al 93,871
307 glztol & 447,007 426,186 20,821
= 312,905
s 40,231
Al 93,871
10 Al2ISTIAEEE2HIEX 447,007 426,186 20,821
O X9HEdE 238 X2
447,007,000 x14] 447,007
= 312,906
=S 40,231
Al 93,871
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O Xe22AM =X
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XA HE SA IS (2 X) 15,120 13,440 1,680
= 4,536
Al 10,584
301 EetE2 N = 15,120 13,440 1,680
s 4,536
Al 10,584
03 A 2H A4S (XL THH) 15,120 13,440 1,680
O NSEHE SAR 24
15,120,000 * 14| 15,120
S 4,536
Al 10,584
X dstAgHl X (EX) 25,000 25,000 0
= 7,500
Al 17,500
307 gl2to| & 25,000 25,000 0
=S 7,500
Al 17,500
11 ARRIS XA E X 25,000 25,000 0
O Xedstargddl X
25,000,000 *14| 25,000
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Al 17,500
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= 19,881
Al 19,881
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X %, 781
= 19,881
Al 19,881
I EEE P EIEREESTE)) 132,543 0 182,543
O JHRIE ST MY
182,543,00021 14 132,543
X %, 781
= 19,881
Al 19,881
22saYs £33N 242 XV (2X) 741,829 751,126 £9,297
= 508,462
= 44,510
Al 108,857
301 LBBHZ 741,829 0 741,829
2 508,462
= 44,510
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2 508,462
= 44,510
Al 108,857
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O NSRELE SAK SXLIEXS
900,00024+14] 900
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A 630
EEEEETTESPIER 567,263 568,960 A1,697
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Al 369,061
ol 2HHI(SXIJIE1) 165,410 162,633 2,772
101 2124 d| 165,410 162,633 2,772
01 2= 165,410 162,638 2,772
0 Zn224+g 165,410
O AtelZRey
12,5313 x22H 50 A| 2H+ 12 165,410
QIHARAHI (KIS A2 EE 2IAI) 51,035 45,933 5,102
101 214 d| 44,808 42,317 2,491
03 SR (RIHL) 22X B 44,808 42,317 2,491
0 SRI2Z2X o2 44,808
O JEa 2,140,000 x1F +12& 25,680
O ZUdgAH| 140,000 1B+ 122 1,680
O JlZao2 2,270,000& x 1B +4 & 9,080
O HEHNZ3 1,362,000« 1 +23] 2,724
O zn2R4Y
16,5102 * 1 +20A| 2t 12 3,963
O dxt=g 88,0303 x 115 1,321
O AR 30,000 x 18+ 12& 360
202 (44| 2,400 2,400
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2,550, 0003 60%+3H 23] 9,180
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140,000 x3Z » 123 5,040
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O 22224+
155,560 *x3H 42 » 12 22,401
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O JissY 140,000&  12& 1,680
ISR 30,0003 3123 1,080
OISR AH|(SEAtcllZEIAN (EX) 104,184 101,628 2,556
Xl 52,092
= 15,628
Al 36,464
101 eI24t| 104,184 101,628 2,556
Xl 52,092
= 15,628
Al 36,464
03 SR (RINHL) 2224 104,184 101,628 2,556
[ SEAtellZelAr Q14|
34,728,000&+3H 104,184
Xl 52,092
& 15,628
Al 36,464
oIA2IGH(AZ 202N (BX) 76,257 74,915 1,342
Xl 61,006
= 10,676
Al 4,575
101 2124l 76,257 74,915 1,342
Xl 61,006
& 10,676
Al 4,575
03 22 (DI H) 22 XES 76,257 74,915 1,342
] A220i2IAF Q1218]
38,128,500 x2Z 76,257
Xl 61,006
& 10,676
Al 4,575
oIA2YH| (S 2HHCIA) 36,928 34,4% 2,432
101 2124l 36,928 34,4% 2,432
03 SRH(RINHS) 222+ 36,928 34,4%6 2,432
O 2ASSH2EAL =5 34,283
O &oz2(201g)
2,600,000& 2% x100%*43] 20,800
O 2EANHS 2,600, 000 +2H x60%+23] 6,240
O ZUdgAH| 140,000 2% *123] 3,360
O gXrasit=g
100,000&x2H + 122 2,400
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O AesSse 30,0002 x2& * 122 720
O 22 R+ (S THIAZ)
32,0008 x2& * 122 768
O A=sSH2IA JIESE 2,640
O <Xt 40,0003 x2&~ 123 960
O JIEEE(HM) 30,0002 x1& 123 360
O Amol= 110,000 x1&* 122 1,320
=38l 58,800 60,920 A2,120
Jl2ZHI(SXI01&8 ) 58,800 60,920 A2,120
201 fer= 3| 38,830 42,820 A3,990
01 At 2|l 38,830 42,820 23,990
mETETER =T 3,830
O 2MH 22 =434
3,550,000& *14] 3,550
O IARID| 2258 7¢ 16,200
SAHI EH 200,000 *1CH+62] 1,200
SAHD EE 300,0002 *1CH*23] 600
A El 180,000 » 1CH*43] 720
TgH EW ¥ &
320,000 +6CH*43] 7,680
Zolely EY
300,000 x4 5+53] 6,000
O ZASX 7Y 30,0002 %1802 A 5,400
O ®Y o DAN P==
20,0002 105+ 12& 2,400
OvEx=s 27,0003 105122 3,240
O Y2EXHEN L 2E 39 AE S0
450,000 *42] 1,800
O AR4 2% 12 2Y
270,000 122 3,240
O =gl 3,000
O SADEL 28
8,000 +x258 15 3,000
202 04| 5,200 5,200
01 =LHO LI 5,200 5,200
O SX01) 428 80,0008 x652! 5,200
203 HR=H] 7,170 7,500 A330
01 D[22 HRF2a| 2,970 3,300 A330
O sSAta3g:e F=d 2,970,0002 14! 2,970
M A2 LIRFAI 4,200 4,200 0
O SXO1E 3% 350,000 x 12 4,200
204 MR A 5,400 5,400
01 MG H2=HAHH| 5,400 5,400
O =sxa3=% 350,000 * 122 4,200
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O s 0= 100,000& « 12& 1,200
308 AtXIEMSOIE 2,200 2,200
18 SIS0t HAS A 2,200 2,200
Oz si= 2,200,000 %14 2,200
HRas(SX01&80) 2,519,636 2,612,761 A93,125
WA XIE 2,519,636 2,612,761 AN93,125
LHEHHXIE(SXIO1= D) 2,519,636 2,612,761 AN93,125
701 JIEtRI HSHES 2,519,636 2,612,761 N93,125
01 JIE=I AN ES 2,519,636 2,612,761 N93,125
O A=SHIISEE A 2,519,636
O 2z=20I3 ANHIRg=
2,519,636,000& * 14 2,519,636




